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Information

The total mark for this paper is 80

The marks for each question are shown in brackets.
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You must show all your working.

Diagrams are not accurately drawn, unless otherwise indicated.

Check your answers if you have time at the end.
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1 Write T asa decimal.
(1 mark)
2 What is the value of the 9 in the number 294 325?
(1 mark)
3 Change 3600 grams to kilograms.
kg
(1 mark)
4  Write down a number that is a multiple of 12 and a multiple of 15
(2 marks)
\_ J
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5 Work out the missing term in each sequence.
a) 100, 92, , 76, 68 ...
(1 mark)
1 1
b) 2,3,1, 4.
(1 mark)
6 PQRSis a quadrilateral.
Q
P
X
98° ,
diagram not
drawn accurately
95°
79° /
R
S
a) Work out the size of the angle marked x.
(2 marks)
b) Give a reason for your answer.
(1 mark)
. J
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7 0.6 kg of potatoes costs 72p.
How much do these potatoes cost per kilogram?
(2 marks)
8 You can use this graph to convert between kilograms (kg) and pounds (Ib).
12 7 N
a
Y
©
c
S
(]
o
0 T T T T :
0 1 2 3 4 5
kilograms (kQg)
a) Convert 3 kg to pounds.
Ib
(1 mark)
b) Convert 50 Ib to kilograms.
kg
(2 marks)
\_ J
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9 a) a=(‘73)andb=(g)

Work out 2a + b as a column vector.

(2 marks)
b) Draw the vector (g) on the grid.
(2 marks)
10 Write the numbers in order of size.
Start with the smallest number.
0.4 0.401 0.34 0.104 0.44
(2 marks)
y,
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11 Mrs Trent travelled from York to Blackburn.

Her journey is shown on the distance-time graph.

h

Blackburn 80 ]
70 1
60 -
50 -
40 -
30
20 4

10 4
York 0 ; ! ! : . —>
09:00 10:00 11:00 12:00 13:00 14:00 15:00

time

distance from York (km)

a) Mrs Trent took a break in her journey at a service station.

How long did she stop for?

(1 mark)
b) How far from Blackburn is the service station?
(2 marks)
¢) Mrs Trent stayed in Blackburn for one hour.
She then drove back to York at constant speed.
She arrived back in York at 15:00
Complete the graph to show this information.
(2 marks)
d) Work out Mrs Trent's average speed for the return journey.
(2 marks)
\ J
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12 One day, Mr Singh spent:

® 8 hours asleep

* two-fifths of the day at work

¢ the rest of the day doing other activities

Draw an accurate pie chart to show this information.
(4 marks)
J
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13 A water tank is in the shape of a cuboid with a length of 60 cm, a width of 50 cm and a
height of 45 cm.
diagram not
drawn accurately
45 cm
¢ »= 50 cm
60 cm
1 litre = 1000 cm?
How many litres of water can the tank hold?
litres
(3 marks)
2
14 Use your calculator to work out %
a) Write down all the figures on your calculator display.
(2 marks)
b) Write your answer to part a) correct to 2 decimal places.
(1 mark)
\_ J
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15 The line with equation y = 2x + 1 has been drawn on the grid.

y
104

94

84

/
Pl :x

PR ) B BT A R
14
-2

v

a) Plot the points with coordinates (-1, 2), (1, 6) and (2, 8) on the grid.

b) What is the equation of the line that passes through these points?

(1 mark)

(2 marks)

J
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16 Shape A is drawn on the coordinate grid.

Translate shape A by the vector (_13).

(2 marks)
17 A cheetah is running at 30 metres per second.
A springbok is running at 88 kilometres per hour.
Show that the cheetah is running faster than the springbok.
(2 marks)
\_ J
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18 The time series graph shows information about the percentage of waste recycled by
a council.
35 s
ek x
= 304 ox==T
e\/ ”’l
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o 151
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S 101
c
()
it 51
()
o 0 R
2010 2012 2014 2016 2018 2020 2022 2024
year
a) Between which two years did the percentage of waste recycled increase the most?
(1 mark)
b) Describe the trend shown by the graph.
(1 mark)
¢) Explain why you cannot use the graph to estimate the percentage of waste that will
be recycled in 2024
(1 mark)
J
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19 150 new houses are built on an estate.
Each house has either two bedrooms or three bedrooms.
Some of the houses have garages, and the rest do not.
95 of the houses have two bedrooms.
30 of the 70 houses that have garages are two-bedroom houses.

a) Complete the frequency tree to show this information.

bedrooms garage

(4 marks)

b) Write the ratio of the number of two-bedroom houses to the number of
three-bedroom houses in its simplest form.

(2 marks)

\_ J
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20 a) Write 1000 in standard form.

b) Scott thinks that (2 x 10°) x (3 x 108) = 6 x 103°

Explain why Scott is wrong.

c) Calculate (1.2 x 108) = V4 x 10°

Give your answer in standard form.

(1 mark)

(1 mark)

(2 marks)

\_

21 ABCis a right-angled triangle.

A diagram not

drawn accurately

B C

The ratio of the size of ZBAC : the size of ZACBis3:2
Work out the size of ZBAC.

You must show your working.

o

(3 marks)

J
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22 Whitney is visiting London.
The probability that she will go on a tour bus is 0.4
Whitney going to a show is independent of her going on a tour bus.
The probability that she will go on a tour bus and go to a show is 0.28
Complete the tree diagram.
sees @
show
goes on a
tour bus
0.4
does not see
a show
seesa
show
does not go
on a tour bus
does not see
a show
(4 marks)
23 Make q the subject of the formula p = 2¢* -3
(3 marks)
\ J
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24 The mean of two numbers is 48
The ratio of the size of the greater number : the size of the smaller numberis5:1

Find the greater of the two numbers.

(3 marks)
25 The volume of a cylinder is 15361 cm?
The height of the cylinder is three times its radius.
Work out the height of the cylinder.
cm
(3 marks)
. J
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26 A
8cm .
6 cm diagram not
drawn accurately
B
< >—— " E
2 em 5cm
C 7 D

BE is parallel to CD.
AB=8cm,BC=2cm,BE=5cm, AE=6 cm
a) Explain why triangles ABE and ACD are similar.

(2 marks)
b) Calculate the length of DE.

cm

(2 marks)

¢) Calculate the length of CD.
cm
(2 marks)
J
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